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I nstructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.

2) Solve any three questions from Question No.2 to Question No.5.

3) Figuresto the right side indicate full marks.

Q1) Fill in the blanks by selecting suitable-ehoice. (any+6 out of 8) [6]

1) a distinctive branghsof economics which study with
Economic problems of Firm and«lndustries and their relationship with
the society.

(Business Economics, Mi¢ro Economics, Industrial Economics, Labour
Economics)

i)  AccordingtoWeber's Isthe most important factor inlocating
afactory.

(Labour, Transportation cost, Agglomeration, Production Cost)
i) Industrial ‘produetivity is the of production system.
(Measurement, Efficiency, Materials, Manpower)

Iv) One of the following Is an indicator of Sargent Florence's
| ndustrial 1ocalisation M easurement.

(Material Index, Labour coefficient, Location Index, Coefficient of
localisation)

v) Industrial productivity =

Input  Output
Output’ Input ’

Output-Input, Input-Output)

vi) A New Economic policy was Implemented in year in India.
(1981, 1971, 1991, 1998)

PT.O.



vii) IS a non-geographical factor affecting the location of the
Industry.

(Raw Material, Power, Transport, Capital)

viii) Therelative Measure of Seller concentration can be measured by the help
of curve.

(Lorenze, Demand, Phillips, Supply)

Q2) Definethelndustrial Economics. Explain the scope and significanee of Industrial
Economics. [14]

Q3) Definethelndustrial Location. ExplaintheAlfred Weber'stheory of Industrial
L ocation. [14]

Q4) Definethelndustrial productivity and Industrial Efficiency. Explainthefactors
affecting Industrial productivity and Industrial efficiency. [14]

Q5) Definethelndustrial Finance. Explainthe sourcesof Industrial finance. [14]

Q6) Write Short Notes. (any 2 out of 4) [12]
a) Causes of Industrial“combinations.
b) Featuresof New Industrial policy since 1991.
c) Causesof Law Industrial productivity.
d) Needof Foreign capital
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97 shATE 1 30T 999 sHATH 6 HHarE aTe.
9T shATE. 2 @ G971 shHlh 5 Gehl hivrdgl o4 qigar.
ITAHSIA 37 Ul 0T Feaard.
deufarst g saef Sy aTET,

gy l) O aiael fas e mede S 1. (8 I wive@ 6) [6]

Vi)

............ T SrelvTETh Ueh fAT9TE Wi SR, i 3= & IEreEEte sl

(cATaETTeh IV, G ew, eI, 3iTeNfiieh teivTR, ST S1eivme)

AT HA e e 21 ST AT INLAVATT W=l ek AR,
(TR, TG T, T, S )

TN Tireh SeATGehdT & SAUTEH TR ... R

(T, S, wifiew, Asees)

WTATATERT ............... 21 Uk AN FARE el SATenfieh TITHehTeRiut
T ey o

AEH  TEH
( ga.ﬁ ,mﬁ,ﬁﬁ—m, m—gﬁlﬁ)
WRATA el AR & ... 1 i AN AT ST 2l

(1981, 1971, 1991, 1998)



97 2)

797 3)

97 4)

797 5)

797 6)

Vi) e, 21 3MEiTeh TAMTER TRUH ST TR-WRTifeTeh T2 3TTe.
(e T, S, STEdeh, Wigad)

Viii) forshearean TewRIGe AU HNEM ... ThT=AT TERAM Shed AT,
(g, Ao, foRferen, greren)

3itenfirer srefvTreT= SrEE Wi, Sitenfies sreivmeTh st o wgve wWe w [ 14]
T . [14]
ienfireR Sciteehdt & 3{ieNfTes Sriarmd= SRS AT, TNl Scareewal o eianfies
AR TRUTH SR ek T8 Fl, [14]
aitenfirer formm=ht sarean @, sitenfre fomme e W . [14]

gt forg. (4 Oht s 2) [12]
) e TewhEeRRoT ROt

i) w1991 % T siifres s A

iiil)  orem SiEfiR SeaTgsRa< wROL.

V) Tyl wigaem= W=t
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